CONCEPTUAL TooOLS By: Neil E. Cotter RLC CIRCUITS

GENERAL RC/RL SOLUTION
Example 12
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After being closed for a long time, the switch closes at t = 0.
Find i(t) for t > 0.

$oln: At +£=0", swibth is open and L = wire.
We note that +the 25 redistor i a 2nd
circait dcross the IS0V source and may
be (Zjnored.
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At +=0%  switth s celsed and we
model L as current sourte with
(L (o) = ¢, (07) = 7.5A.
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RLC CIRCUITS

GENERAL RC/RL SOLUTION
Example 12 (cont.)

We have a currept Jdiv
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Note:

Ry = 20nf|zoa=I122

switched (s c¢losed since L>o.
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GENERAL RC/RL SOLUTION
Example 12 (cont.)

The +ime <onstant s L = 10ull =5 ug.
R R 6

We plug values nte the 7enem£ form
of solution:

‘ —t/ Eus
L(£>0) = 7.5A + (.54 -75A e

or L(t>)= 7.5A - 3Ae  ©



